Total numkber of pages — 16

CODE

: 34T ACOU

2024

ACCOUNTANCY
For New Course Stu&ents

Full Marks : 80

Pass Marks : 24

For Old Course Students in lieu of Project works

Full Marks : 100

Pass Marks : 30

Those who appeared H S Final Exam till 2023 |
have been treated as Old Course students

Time : Three houfs

The figures in the margin indicate full marks

for the questions.

For New Course :

N O () o ov e sventaerysvuagoteshang uzse soRMON e 14 = 4
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I ) L i
‘ ) in the blanks with appropriate word /words - (any f |
- (any four)
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(1) artners current accounts are prepared
accounts are i

e 25 ____- W
T W@\Wwﬁ@@ﬁmwwl

i) Co v .
.( ) mpany has a separate. entity
members. e T 1y apart from its

Wﬁaiﬂmwmme 9Bl 42 gl 9l |

€n the capital

and .

BT SIS 5fote il e 9 I Ipiy
B J

rent assets

(iv) Equity shareholders are of a ¢
a M e, Ompany,
e T SE e e G e e |

v) A i i
(v) ; t the time of dissolution of partnership fi
ransferred to Realisation Account at l

=

'm, assets gre
—  value,

WWWWWW@F@WW@&M%

ETO ZIEIEE 11 37|
(b) Stat I
e whether the following statements are ‘True’
. or ‘False’:
1x2=9

O SfSEN O @ wum fo7alt 2

(i)  Debentureholders do not have rj
meetings of the company §

A GHITT A 19 fifoce
T IR ff559/7ers (o5 figre e
J 1S Al Qs |

ght to vyote in the

(i) Premium for goodwill is shared in gainj
INIng ratje

fm? < o)
IR (LRI Top SIS SRpeiies 65 =0
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Choose the correct alternative :

w7 BEAol AZe T 8

(i) The portion of the authorised capital whi
r sale Iin the form of shares is called

(¢)
ch is offered to

the public fo
SIS EER R0 Ok ST SRAAES SR TER AR
ISR 28, O (Tl
(a) subscribed capital
efouls e '
(b) issued capital
fRferpe oA
(c) called-up capital
el eI
(d) paid-up capital
A REESR GO

(i) In the absence of partnership deed, th
allowed on partner’s capital is

) 5 SR, SIeTee o 6ofere e 1 705 A (12

e rate of interest

(@) 6%

(b) 5%

(c) 6.5%

(d) None of the above

G7FT Wbie 2
2. What is meant by re-issue of forfeited shares? 2
ST TP s R W R 3@ e
Contd.
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Write any two demerits of partnership business.

SRR TR Rl 7o SR Bl |
Mention two features of a debenture. o
HoiEs 76! AP S 91|
OR / #1241
Write the meaning of ‘Cash flow from investing activities’ o
R ST 2] @ 6w R o
Give two circumstances under which the fixed capita]
may change. W partner;
SIHATE AR (29 e Fele 29 o[ 757 AR T =
OR / 71231
Why is Profit and Loss Adjustment Account prepared 2 o
SIS-CEIRhI FREG 2l (o8 @ o) w2
What is meant by ‘calls-in-advance’?
: 9
T ST W & @l qG?
Mention two limitations of financial statement analysis. 5
Rl aiforareE R 7o ARl Bl 4 |
OR / 7231
What is meant by the term ‘cash equivalents’ ?
2

0017 B i O L) B ) Al e e e

Write three situations when a partnership firm ;
. m 1 ;
dissolved. S Compulsorily

SIS YA TGOS SR @1 ST AR ey 3
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101

Give any three items that can be shown under the heading
Reserves and Surplus’ in a company’s Balance Sheet. 3

Bl e Tgerme Tites e S SRR FeE TEe  (TAR 7
Riclc! oo fRed Srad <4 |

OR / &7

Name any three items of current assets. 3

R fofs! sfre waifed s sl |

Current liabilities of a company are % 3,50, 000. Its current ratio is
3:1 and liquid ratio is 1.75: 1. Calculate the current assets and
liquid assets. 3

ﬂ%i@mﬁasﬁfmaﬁﬁwissoooowﬁmﬁmsﬁﬁwm
3.1 R oFe Oelle 1.75: 1 = =1, ST Te(fS o W e AAREe e

<40

OR / 739!

Mention any three objectives of preparing comparative statement. 3

oA 2l SR RicPIzer] f&o! Soety SeEd 3|
: OR / 7231

What is computerised accounting’ system ? : 3

BT (eI A e 2

. A and B are partners sharing profits and losses equally. They have

admitted C into the firm. A has surrendered 1/3 of his share and
B has surrendered 1/6 of his share in favour of C. Ascertain the

new profit sharing ratio. 3
A % B qEA ST Ol (SETEICE G AS-CTHA ol o | (OCTEIE
C T SmE f=oredl el A (59 UK 1/3 Wi B-@ (99 IR
1/6 s C & frope e | o TS AT SRS [l 9
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OR / 712
Explain in brief the ‘average profit method’ of goodwill valuation. 3
A IR 9IS @® Am© (O] I Il 1

OR /412
Write three advantages of using graphs.

14 GRS [ofG) AR ferdi |

12. Prepare a Commonsize Income Statement of Maina Ltd. from the

following informations :

. 6
oo S ~A1 A T THRSl SR S 2w e < o

[ Particulars 2022 W -

() ®) &
Sales () 1,05,000 W
Sales Returns (@ Q) 5,000 | 10,000
Cost of Goods Sold (& <=1 ¥ @) | 70,000 | 74 gqq
Office Expenses (FRERE 446) _ 3,000 3,200
Non-operating Incomes (SRIfEE W2 ) 9,000 6,600'
Non-operating Expenses (SRR <) 1,000 | 1,100
Income Tax Rate (SFs3d 29) 50% 50%
o e i ]
34T ACOU o]

OR/ 1l
Explain inlbrief the‘tools of financial analysis. 6
o ReEes SR HICF ?1=1"§IT 5l |
| OR/ =l
Explain the concepts of ‘data validation’ and ‘data verification’. ’6

i o O Tt (SRR R 2l <=

13. Give Journal entries in the books of Pakhi Ltd. for issue of

debentures under the following situations : 1+1+'l+1+2=6
Wﬁmwamﬁ@%ﬁmﬁ%@w%ﬁﬁ%ﬁﬁmWﬁ@ﬁmg
(@) Issued 5,000, 8% debentures of 2 100 each at par redeemable
at 5% premium after 4 years.
5.0005 100 TRl 8% i@ s {fF T W 4 =W e 5%
it ARG |

(b) Issued 6,000, 9% debentures of 2 100 each at 5% premium,

redeemable at par after 4 years.

6,00051 100 B 9% H97E@ 5% siFeEe &R o@ T 4 39 H=e

TEES AR 4 |
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()

(@)

Issued 7,000, 10% debentures of R 100 each at 5% discount

redeemable at par after 4 years.

7,00061 100 BRI 10% 6= 5% AT R ™ {7 4 7% Pigo
FEES ARCIA |

Issued 8,000, 10% debentures of ¥ 100 each A1l 5% (ke

redeemable at 10% premium after 4 years.

8,00056! 100 5=l 10% 47 5% wr@a@ R =@ & 4 927 Bz
10% SIfHERe 2AReHiiEeiE |

Issued 5,000, 9% debentures of 2 100 each to the vendors f
or

purchasing a machinery of ¥ 5,00,000.

5,00,000 53 F@°ife @ A1 Rzl 5,00081 100 551 9o
fafer e

A<i=q

OR/ 731

Give six points of distinctions between a share and a debent
enture

6
SRHAG I WG] AT 4] 557 i<l SiisEHRl |
OR/ 723t
Explain the applications of Spreadsheet in Accounti |
ng 6

(TARFT® ‘Spreadsheet’ = TR 7ot 7 |

34T ACOU
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14. Susanta, Ananta and Diganta were in partnership sharing profits
and losses in the ratio of 3:2:1. On 1.1.2023. Susanta retires
from the firm. On that date Balance Sheet of the firm was as
follows :

6

G, ONG I Toi% 3:2 ¢ 1wwar~mw%aw%awm
SR e | 1, 1. 2023 SRS PIeR FPIRE =81 ORPH & | Cﬂiﬂﬁﬁ‘
WWWWTWW%W%‘TI

 Balance Sheet (¥%€-2[@)

Liabilities (G7) 3 Assets (7€) 3
Creditors (7i€HIn19) 50,000 | Cash at Bank ((&® @) 6,000
Reserve Fund (%% 4f%) | 60,000 | Debtors (G4l 1,50,000
Capital (&) Stock (g 30,000
Susanta = 80,000 : Furniture (Si5<1) 24,000
(741%) Land and Building (Sl &% &) | 80,000
Ananta = 60,000
(S)
Diganta = 40,000 1,80,000
(1) _
2,90,000 | 2,90,000
The terms of the retirement were:
SRR 5OoTE. ilfee 4
() Goodwill of the firm were valued at %1,20,000

(@)

(iii)

34T ACOU

oifsdie e Ui 1,20,000 B I i

Land and Building to be appreciated by % 20,000
ffl @i% < 20,000 G Jra S Fed

Provision for Bad Debts to be made @ 2% on debtors

(MRS GRS 2% SHGRAR 49T AE T2 T 9

(9]
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15.

(iv) Furniture to be depreciated by 3 4,000
S5ARE \@7® 4,000 TFE SR 4R 9 89
(v) Susanta’s capital is to be transferred to his Loan Account
FIGA SEE (999 Ael f2hlita ZINIgs i 29
Give Journal entries relating to the above transactions.
TEIE (FT TR @ Gl el [l
OR / 7%l

Explain how the amount due to a deceased partner is ascertained? 6
GG O SRAMIE AARETaE] 49 sl [ FaEe 90 5 3l

Distinguish between dissolution of partnership and dissolution of
firm. . 5
SRARIE SRATH S SRAMI PR SRR M Al #2

OR / 721

Ravi and Vicky are partners in a firm sharing profits and losses in
the ratio of 3:2. They decided to dissolve their firm on 31st
December, 2022. Their Balance Sheet on that date was as under -
[ o Bl 3 : 2 TGANOS #S W[ (EIFHH 67 T @B IR ST |
(St 31 fernas, 2022 SIS (ST TR SRR s o | ¢z
SifFd® (OSENF Tgoriged e Wl 4elq 9ifeE ¢

Balance Sheet (¥3¢2@)

Liabilities ((71) = Assets (T™(f@) =
Capitals (3[F14) : Furniture (WWTW
Ravi (3f) 17,500 Investment (RFa@el) | 4,000
Vicky (R 10,000 Debtors () 2.000
Creditors (2h€amF) 2,000 Stock (3g) © 3,000
Profit and Loss A/c 1,500 Cash at Bank 6,000
GicRGIEoRER ) (e )

31,000 W

e ]
34T ACOU [10]
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Ravi took over the investments at an agreed value of X 3,800. Other

.assets were realised as follows :

Furniture — 218,000
Debtors — 90% of Book value
Stock — 22,800

Creditors of the firm agreed to accept 5% less. Expenses of
realisation amounted to % 400. Close the firm’s books by preparing

a Realisation Account, Partners’ Capital Accounts and Bank
Account. 6

IR 3,800 T F 790 T KRR 4F F6 | O T2 wers
49 OV <541 24 8

95K — 18,000 G
@R — 2T 90%
TGO — 2,800 B
TPIRR ANESARE 5% T A FRAC THO | TEMEDCR 26 400

(5 I 7 O U s W 20 O R 36 B 5 ) B B s Rl B g s R
RS [ZI7 qgPRR 99

Anvi Ltd. has issued 10,000 equity shares of 210 each at a
premium of 22 each payable as follows : 8

On Application — 22
On Allotment — 5 (including premium)

On First and Final Call - 25

The shares have been fully subscribed, called up and paid-up
except the following :

(@) Allotment and First and Final Call money on 500 shares held
by Ritu, and

. (b) First and Final Call money on 600 shares held by Jitu.

All these shares have been forfeited and re-issued at 10% discount
as fully paid.

Give Journal entries in the books of the company.

34T ACOU [11] Contd.



17. Mihir and Karan are partners in a firm sharing proﬁts in the ratio
ef 8o N On April 1, 2022 their Balance Sheet was as under :
3+312=8
| s @i 36t 3 2 2 TFFiIT® e 9577 Y3 DR TR | 1 @R, 2022
| OIS (SSETRS TFE A9 were WA Wi Sife 8
|

Balance Sheet (¥g%-2@)

Anvi RS 29 10 55 F9 10,000 < FIs<i1d 2ifSs 2 53 wigae
e S i 2 e Al &=l SiRedlld -9 wifee ¢

RS &5 — 2 5
S &0 — 5 5l (SfdRRE o)

22 SF POIT WeRH NS — 5 Bl | Liabilities () 3 Assets (7if6) 2
SRS AE ﬂ'ﬂviq%.—@f ofous ge, (ﬁ@?@ﬁ ORI 4l R SR wete B ; _ Sundry Creditors - 85,000 Bank (&%) 10,000
[EE AW 0 B AR &7 M (oA 51 3 1 (R ) Stock (7g9) 22,000
(@) 500 < ST 4= R 441 AR R S 20 % o e | PPl AT e

o, T . | Mihir (fif&9) = 70,000 | (PR SR TEiIfe)

| - K e ,000 - Buildine (&<4 1,00,0
(b) 600 AT ST ATF Ergd 7 SARFATI 24T A FOIG werag & | | ERRA L L Guudm-; ((;m:?) 20 0(());J
! 00dwWl1 3
R “ﬁﬁasﬁ” S FACERIY 3 2T W 10% TR L W‘fw f2oitst | Debtors (FAR) - 24,000
TR |
A | Less : Provision (3%%) - _1,000| 23,000
(I T2 Gieml ‘ﬁﬁf% ﬁ‘sﬂl | | 2,15,000 2,15,000
OR /7% - On the above date, they admitted Sunil as a new partner on the
| following terms :
(@) For what purposes ‘securities premium’ can be use | THEe —ﬁﬁ‘i{@ COSTHAILT oo SrE W fofes i
; s | f2itel ©fS [t ¢ A
€ 3 : 9{ o
ﬁi’\\s—\gf% T & 5 BeiG q7Ee S Al | (i)  Sunil will bring ¥ 50,000 for his capital.
(b) Write three distinctions between equity share and preference | v FIIET (969 g T 50,000 B IR |
share . () He would get 1/5th share in the future profits.
: 3 | (98 SRR &eq 1/5 W 1 IR |
TG OIS DelfERgE SAe@ A A D ANy e P sl ot dinnels mguirc A 0,000
' efvias JiN 1,20,000 TS A T 29|
OR / 7z (iv) Sunil will bring necessary premium for goodwill.
I AT e R S @ik
What are the steps involved in installation of Computerised ' Pass Journal entries to record the above transaction. Prepare
accounting system (CAS)? 3 Partner’s’ Capital Accounts and Balance Sheet of the new firm.
AU T A e Tt TS AT f e S CHURTR fFisrm e 3 s @ik W@ | sofmee e e o

T AU Tge g e 79 |
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18.

ORI/ 71241

(i) Distinguish between Profit and Loss Account and Profit and

Loss Appropriation Account. \ 5
TS~ 2517 T Fe- (DA GARIGH ROI7R Fem e Bal |
(i) Mention any three rights of a partner. 3

SRAE IS [P [ofb! S Gz < |

Biswa and Pradip are partners in a firm. The Trial Balance of the firm
as on 31st December, 2022 was as under : 8

Rl o 2] G2 Afeviag SImE | 31 TSeR, 2022 SIS dfsveT Tae
e S SR Wed e 8 s
Trial Balance (Y€ fEm#iq)

Debit (&) i Credit (%) S
Drawings (SI1&d) : Capital (FFi) : [T Rz
Biswa () — 4,000 Biswas (%) — 65,000
Pradip (#71) — 3,000 | 7,000 Pradip (4f1) — 40,000 |1,05 000
Cash at Bank (R0 &) 45,000 Sundry Creditors (R4 #Iem) | 1 40
Sundry Debtors (R4 (TS 40,500 Bank Loan (@ (i) 5,000
Insurance (3) 19,740 Commission (F¥a) 300
Advertisement ({@9) 9,000 Trading A/c (Gross Profit) 57,200
Closing Stock (% 7ge) 12,500
Cash in hand (%57 @) 16,300
Commission (3¥%) 5,000
Motor Car (¥4 9If6l) 20,860
Machinery (3#if) ° 10,000 ;
1,85,900 @
Prepare Profit and Loss Account, Profit and Loss Appropriation
Account and the Balance Sheet of the firm for the year ended 3]st

December, 2022 after considering the following informga
were fral SAPE fasal FfEce 31 U, 2022 SRS Sy
EIREGI 2517, Fe-EIRmN S 2ol i Tg8 oia4q s 1 2
(@) Partners are to share profits and losses in the p, ,
3/5 and 2/5 respectively. Proportion of
G AINCE FNS-CEDIaRR &l 3/5 % 2/5 Seitos

tion :

T AR wre-

©AIiE TR |
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(b) Write off depreciation @ 10% on Machinery and 20% on Motor -
Car.

FZoI{S9 @oF® 10% S SIB9 5ITGIS @298 20% S 41F $R-a @ |

(c) Create a provision of 5% on Sundry Debtors for Doubtful
Debts. it

R4 (FMIRE CoRe AR A9 AW 5% SRS 7 71 29
(d) Partners are entitled to Interest on Capital @ 5% per annum
and Pradip is entitled to a salary of 2 1,800 per annum.
SR MIPRCE 928 5% O T SRS T S F(ed SIS Aiisie I2[
1,800 B=hicss vl fazil 241 '
For 0Old Course: (in lieu of Project Works)

Answer the following questions : (any four) 5x4=20

weTe Al 2R Oed Wal ¢ (Rieeiza bif<ot)

(a) Write distinctions between Fixed Capital Account and

Fluctuating Capital Account.

%9 T ZorR WIS SFF T 2oieR e 26 sty ol

(b) What is Ratio Analysis ? Mention any three limitations of ratio
analysis.

sEAATe fsEe 7 2 TS Foswem R fomor Suiae! S 594 |
(c) Explain uses of Financial Statement.

fqern aferavas a2 VIR0 1 |

(d) What is meant by Cash Flow Statement ? Mention any three
objectives of preparing cash flow statement.
Toiee] 2RI 2fSraE e 7 38 2 Tl ek oS e w9m
R oG Tl T 4 |

(¢) Explain the average profit method of valuation of goodwill.
What is Revaluation Account ?

oIS SIS TE FAS AROW! 0 T | e s W 7 2
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